Module 6 Application Test

This question has been re-worded from what appears on the
screen. Use this question:

A 7-year-old patient is seen in the OR to have a procedure of a
secondary palatoplasty. The patient’s assessment is unilateral cleft

palate. What ICD-10-CM code is reported?
Correct answer 1 - Q35.9

An 8-year-old male patient is brought to the ED where he begins to
seize. The ED physician quickly stabilized the patient. What ICD-10-CM

code is reported for the seizure?
Correct answer 1 - R56.9

Office note: “This 3-year-old was brought to the office by her mother, who reports that the child
has been pulling on her left ear and saying ‘It hurts.” Examination of the ears shows that there
are no findings in the right ear; however, there is a foreign object in the left ear”

This encounter would be reported with the 7-digit ICD-10-CM code

This initial encounter for a foreign object in the left ear would

be reported with the 7-digit ICD-10-CM cocﬁ .
Correct answer 1 - T16.2XXA

A patient mistook their heart medicine for their antibiotic medicine. The patient was
treated in the ED. Which drug toxicity classification would the coder assign? (Review the
definitions found in the guidelines if you need guidance.)

underdosing
toxic effect

iJ-‘III

adverse effect

iJ-‘III

poisoning
Correct

A chromosomal abnormality is always listed as the principal or first-
listed diagnosis.
. False, a chromosomal abnormality may be first-listed/principal or secondary.
Correct



